XYZw=84.1998 , 88.50 , 96.46 b~
a*=500 @ -a,) Y13 4
b* = 500 b’ - b'y) YU/3

a=a, [dy|2

b= by [24]1/3 Ca Yoy
ap=[L/X,]13=0.2101
by=—[LZ,]1=-0.08376

n = D65 . A A

r120

+ + 4
-120 Cy

CIELAB 76

Name and chromaticity

Rysree x=0,64 y=0,33 Be
Gysree X=0,30 y=0,60
By.srea X=0,18 y=0,06
Device and elementary coloursy,,=88|

b
r-120

of the sSRGBcolour space for D65 b
in CIELAB diagram (a*, b*)

1-000030-L0O

SE811-6A_1




XYZw=85421 , 8859, 73.08  p*
a* =500 @' —a’y) Y13
b* =500 p' - b'y) Y3
a=a, [xy] 13

b=b, [zh]13 Gy

a,=[1/X,]1/3=0.218 Ry
b,=—[1/Z,,]/3=-0.09188 "
n=D50 . G a
CIELAB 76 120 G 120
Name and chromaticity

Ry sree x=0,64 y=0,33 Mg

Gysree X=0,30 y=0,60
By.srea X=0,18 y=0,06
Device and elementary coloursY,,=88|
of the sSRGBcolour space for D50
in CIELAB diagram (a*, b*)

Be

-120

1-000030-L0O SE811-6A_1




XYZw=89.4154 , 88.59 , 57.3 b*
a*=500 @ -a,) Y13 4
b* =500 p' - b',) Y13
a=ay [xy]¥3

b=b, [zZ4]1/3 G
a,=[1/X,]1/3=0.2147 ~d
by=—[1/Z,}]1/3=-0.09964
n = P40

r120

:
-120

CIELAB 76 %1

Name and chromaticity

Ry sree X=0,64 y=0,33

Mg

Gysree X=0,30 y=0,60

By.srea X=0,18 y=0,06 Be
Device and elementary coloursY,,=88|
of the sSRGBcolour space for P40

in CIELAB diagram (a*, b*)

-120

1-000030-L0O

SE811-6A_1



XYZw=97.3152 ,88.59 ,31.52 p*
a*=500@ -a') Y13 +120
b* =500 p' - b’,) Y13
a=ay [x/y]13

b= b, [z 13 +
a,=[1/X,]1/3=0.2088 3 Ry
by=-[1/Z,,]13=-0.12 Gl Ye a*
n = A00 \ \ 4
T T V
-1 120
CIELAB 76 %, My

Name and chromaticity;
Ry sree Xx=0,64 y=0, ifi.
Gysree X=0,30 y=0,60

By.srea X=0,18 y=0,06

Device and elementary coloursY,, =88 |
of the sSRGBcolour space for AOO T
in CIELAB diagram (a*, b*) B. @

1-000030-L0O SE811-6A_1




XYZw=88.5907 , 88.59 , 8859 p*
a* =500 @' —a’y) Y13 1120
b* =500 b’ - by Y3
a=a, [xy] 13

b =b, [/} 13 Gy
2,=[1/X,]1/3=0.2154
by=—[1/Z,]1/3=-0.08617

n=EO00 Ce

—120 Cq
CIELAB 76
Name and chromaticity
Rysrea X=0,64 y=0,33
Gysree X=0,30 y=0,60
By.srea X=0,18 y=0,06
Device and elementary coloursY,,=88,6
of the sSRGBcolour space for EOO T-120
in CIELAB diagram (a*, b*)

Be

1-000030-L0O SE811-6A_1




XYZw=86.8818 , 88.59 , 104.73 p*

a* =500 @' -a',) Y13 1.0

b* =500 p' - b’,) Y13
a=ay [x/y]13 Gy Y

b=b, [zm13 Ye

a,=[1/X,]1/3=0.2168
by=-[1/Z,]1/3=-0.08149 G,

*
n=C00 \ \ Acoo a
N4

CIELAB 76
Name and chromaticity

Ry sree X=0,64 y=0,33
Gg,sree *x=0,30 y=0,60
Bg,sree X=0,18 y=0,06
Device and elementary coloursY,,=88|

3

of the sSRGBcolour space for CO0 T -120

in CIELAB diagram (a*, b*)

1-000030-L0O

SE811-6A_1




XYZw=90.421 , 88.59 , 71.81 b*

a* =500 @' -a',) Y13 1.0

b* =500 ' ~b'y) Y13

a=a, [xy] 13

b= b, [z4]13 G4
a,=[1/X,]13=0.2139
by=—[1/Z,]13=-0.09242

n = P00 . G0

-120 ¢
CIELAB 76 d
Name and chromaticity
Ry sree X=0,64 y=0,33 -
Gysree X=0,30 y=0,60 B. @
Bg,sree X=0,18 y=0,06
Device and elementary coloursY,,=88,6

of the sRGBcolour space for POO T-120

in CIELAB diagram (a*, b*)

1-000030-L0O

SE811-6A_1




XYZw=86.7591 , 88.59 , 105.38 p*

a* =500 @' -a',) Y13 ]

b* =500 ' - b'y) Y13
= 1/3
a=a;[xy] Gy Yd

b=b, [zh]13 )

a,=[1/X,]13=0.2169
by=—[1/Z;]13=-0.08133 Gy

n =Q00 ' : d
+ + 4

r120

CIELAB 76
Name and chromaticity

Ry sree X=0,64 y=0,33
Gg,sree *x=0,30 y=0,60
Bg,sree X=0,18 y=0,06
Device and elementary coloursY,,=88|

b
r-120

of the sSRGBcolour space for Q00 b
in CIELAB diagram (a*, b*)

1-000030-L0O

SE811-6A_1




XYZw=83.9954 , 88.59 , 95.08 b*
a* =500 &' —a'p) Y3
b* =500 b’ - b'y) Y3
a=ap [x/y]3

b=b, [zh]13 Gy
a,=[1/X,]13=0.2193
b=—{1/Z,]13=-0.08416

*
n = D65 X ?
120 Cy 120
CIELAB 76
Name and chromaticity
Rysree x=0,64 y=0,33 Be Mg

Gysree X=0,30 y=0,60

By.srea X=0,18 y=0,06

Device and elementary coloursy,,=88|
of the sSRGBcolour space for D65

in CIELAB diagram (a*, b*)

-120

1-001030-LO

SE811-6A_1




XYZw=856893 , 8859, 7212 p*
a* =500 @' —a’y) Y13
b* =500 p' - b'y) Y3
a=a, [xy] 13

b=b, [zh]13 Gy

2,=[1/X,]1/3=0.2178 Ry
b,=—[1/Z,]1/3=-0.09229 "
n =D50 . G a
CIELAB 76 120 ¢4 120
Name and chromaticity

Rysree x=0,64 y=0,33 My

Gysree X=0,30 y=0,60
By.srea X=0,18 y=0,06
Device and elementary coloursY,,=88|
of the sSRGBcolour space for D50
in CIELAB diagram (a*, b*)

Be

-120

1-001030-LO SE811-6A_1




XYZw=90.1416 , 88.59 ,57.09  p*
a*=500 @ -a,) Y13 4
b* =500 p' - b’,) Y13
a=a, [xy] 13
b =D, [zh]13
ay=[L/X,]13=0.2142 Cd
b,=—[1/Z,]]1/3=-0.09976
n = P40

Ry

P4 R a*

&

L
190 @
-120
CIELAB 76 G
Name and chromaticity
Rysrep X=0,64 y=0,33 4

N
120

Mg

Gysree X=0,30 y=0,60

By.srea X=0,18 y=0,06 Be
Device and elementary coloursY,, =88 |
of the sSRGBcolour space for P40

in CIELAB diagram (a*, b*)

-120

1-001030-LO

SE811-6A_1




XYZw=98.468 , 88.59 , 31.18 b*
a* =500 @' —a’y) Y13 +120
b* =500 p' - b'y) Y3
a=a, [xy]13

b=bh, [zZW1/3 1
2,=[1/X,]1/3=0.2079 Y R
by=—[1/Z,)]3=-0.12805 Ye 4 .
n = A00 \ \ p a
120 L ) 120
CIELAB 76 d Mg

Name and chromatici

RysreB X=0,64 V: %3?’ i
Gysree X=0,30 y=0,60

By.srea X=0,18 y=0,06

Device and elementary coloursY,, =88 |
of the sSRGBcolour space for AOO b
in CIELAB diagram (a*, b*) B. @

1-001030-LO SE811-6A_1




XYZw=88.5818 , 88.59 , 8859 p*
a* =500 @' —a’y) Y13 1120
b* =500 b’ - by Y3
a=a, [xy] 13

b =b, [/} 13 Gy
2,=[1/X,]1/3=0.2154
by=—[1/Z,]1/3=-0.08617

n=EO00 Ce

—120 Cq
CIELAB 76
Name and chromaticity
Rysrea X=0,64 y=0,33
Gysree X=0,30 y=0,60
By.srea X=0,18 y=0,06
Device and elementary coloursY,,=88,6
of the sSRGBcolour space for EOO T-120
in CIELAB diagram (a*, b*)

Be

1-001030-LO SE811-6A_1




XYZw=86.1862 , 88.59 , 102.89 p*

a* =500 @' -a',) Y13 1.0

b* =500 p' - b’,) Y13
a=ay [x/y]13 Y

b =b, [z/]13 Gy Ye

a,=[1/X]1/3=0.2174
by=—{1/Z,]1/3=-0.08198 G,

n=Co0 , ) JLcoo
N4

CIELAB 76
Name and chromaticity

Ry sree X=0,64 y=0,33
Gg,sree *x=0,30 y=0,60
Bg,sree X=0,18 y=0,06
Device and elementary coloursY,,=88|

3

of the sSRGBcolour space for CO0 T -120

in CIELAB diagram (a*, b*)

1-001030-LO

SE811-6A_1




XYZw=90.6941,88.59 ,71.98 p*

a* =500 @' -a',) Y13 1.0

b* =500 ' ~b'y) Y13

a=a, [xy] 13

b= b, [z4]13 G
a,=[1/X,]13=0.2137
by=-[1/Z,]1/3=-0.09235

n = P00 . G.@L

-120 ¢
CIELAB 76 d
Name and chromaticity
Ry sree X=0,64 y=0,33 -
Gysree X=0,30 y=0,60 B. @
Bg,sree X=0,18 y=0,06
Device and elementary coloursY,,=88,6

of the sRGBcolour space for POO T-120

in CIELAB diagram (a*, b*)

1-001030-LO

SE811-6A_1




XYZw=86.5081 , 88.59 , 104.91 p*

a* =500 @' -a',) Y13 ]

b* =500 ' - b'y) Y13
= 1/3
a=a;[xy] Gy Yd

b=b, [zh]13 3

a,=[1/X]13=0.2171
by=—[1/Z,]3=-0.08145 G,

n =Q00 ' : d
+ + 4

r120

CIELAB 76
Name and chromaticity

Ry sree X=0,64 y=0,33
Gg,sree *x=0,30 y=0,60
Bg,sree X=0,18 y=0,06
Device and elementary coloursY,,=88|

b
r-120

of the sSRGBcolour space for Q00 b
in CIELAB diagram (a*, b*)

1-001030-LO

SE811-6A_1




